Socials 11 – The Post-War World (1946-1980)
Topic – The Cold War
COLD WAR INTRODUCTION

· Period lasting from ____________ to ______________.

· There was tension between the COMMUNIST ________________________ and its allies and the CAPITALIST AND DEMOCRATIC _______________________ and its allies.

· After WWII, there was a ___________________ (two conflicting ideas) world with two superpowers, the United States and the Soviet Union each with nuclear power to destroy one another.

· Cold War continued for 45 years when Ronald Reagan suckered the Soviet Union into a “_______________________________” that the Soviet Union could not compete in. The result was a ______________________ of the Soviet economy and finally the collapse of the Soviet Union.

WHY WAS IT CALLED THE COLD WAR?

· It was called the cold war because it did not erupt into an _____________ war and the two superpowers did not face each other in _________________ because they would have destroyed each other.
· It was a fight for power and _________________ on a global level. 
COLD WAR CHARACTERISTICS

· No direct military combat between USA and Soviet Union.

· Cold War was fought using __________________________, espionage and public _____________________________ campaigns.

· Characterized by a fear of a ________________________________ as both sides raced to build nuclear weapons to gain an upper hand.
COLD WAR ORIGINS
· Roots of the Cold War lay in the different views the US and the Soviet Union had on ____________________________ and _______________________________ systems.

	
	Soviet Union
	USA

	Political System
	Communism – No political opposition is tolerated.
	Democratic – Freedom of speech, right to vote, etc.

	Economic System
	The government controls all _________________ and commerce.
	Capitalism – An economic system where individuals invest in _________________ for profit.


COLD WAR BEGINS– END OF WW II

Germany
· At the end of WW II, the allies agreed to split Germany into ________ occupation zones.
· Britain, France and USA joined their zones and form _____________ Germany.
· Soviet Union’s zone became ____________ Germany.
· The ___________________ separated West and East Germany and was a major symbol of the Cold War.
Berlin Blockade

· Resulted when western powers decided to introduce new currency into W. Germany.
· USSR refused to accept the new form of currency.
· USSR responded by _____________________ western transportation routes because West Berlin was inside of East Germany.
Berlin Air Lift

· USA, Britain and France countered the Berlin blockade by airlifting supplies into western Berlin.
· One plane landed every two minutes.
· The Soviets realized the blockade was not working and the dispute ended with two ________________________ governments for the city of Berlin and Cold War alliances being created.
COLD WAR CONCERNS AND SUSPICIONS

· Western countries were suspicious of communism because they feared the communists wanted to _______________ western societies in a world revolution.
· The fear of the communism in the west was called the ___________________. 
· The Soviet Union was suspicious of the west because it believed that western countries might try to ___________________ Soviet territory.
· Satellite States
· Soviet style ________________________ were established by Stalin in Bulgaria, Hungary, Romania, Poland, Czechoslovakia and Yugoslavia.
· These 6 countries were called satellite states because they were under the _____________________ of  the Soviet Union.
· 1946 – British PM Winston Churchill said that an ``__________________” had fallen across Europe dividing communist and non-communist states. 
· Domino Theory
· Americans feared that when one country fell to _________________, others would fall to the Soviets much like a domino.
· Americans feared that European countries would fall one by one to the Soviets.
· Containment

· The US foreign policy of ____________________ or halting the spread of communism by providing _________________ aid and military ___________________ to people threatened by communism.
· Truman Doctrine: Policy to support free people around the world who were resisting and living under communism. 
· Marshall Plan – Developed by the US in 1947.  The plan offered ____________ of $$ in aid to war-torn European countries to help them resist communism. 
COLD WAR ALLIANCES

1) North Atlantic Treaty Organization (NATO)
· Formed in 1949.
· Alliance between _________________ nations (Canada, Britain, USA, and other Western European nations) as a military alliance.
· Any attack on a member of NATO was to be treated as an attack on _______.
· Each member nation contributed to NATO’s defence force.
· The purpose of the alliance was to discourage the Soviet Union from any attended ___________________________ of Western Europe.
2) Warsaw Pact

· Formed in 1955 in response to NATO.
· Alliance consisted of the ____________ and its satellite states.
· Warsaw Pact would protect the Soviet Union from attack.
ARMS RACE
· Main feature of the Cold War was an arms race between the USA and the USSR.
· The arms race gave way to a space race as both superpowers raced to see who could send satellites and astronauts to space first.
· ____________ (Mutually Assured Destruction)
· Because both sides had the same types of weapons, if one country would attack the other, it knew that it would be attacked.
